




















































   
Example 1 - Joining datasets by a common variable: Creating a single table 
using multiple datasets  

Other features illustrated: Aggregate data multi-variable recode, computational calculation  

Background: Some datasets may have variables whose value sets are defined alike (comparable). Examples 
include demographic variables (e.g. gender, race, marital status) and geographic variables (e.g. state code, 
county code). Co-tabulation allows you to tabulate information from the different datasets side by side using the 
comparable variable as a hinge.  

Goals: 1) Estimate the number of people per gas station in each county in Maryland. 2) Add the number of 
households without vehicles to the table.  

Steps:  
Goal 1 Estimate the number of people per gas station in each county in Maryland. 

1. Select first dataset - County Business Patterns, County Level, 2003.  
2. Select variables - Selectable Geographies (all counties in MD), Establishments (est), and industry 

(naics=447///).  
3. Select second dataset - Decennial Census, Summary File 3, 2000.  

o Go to Step 2: DataBasket/Download/Make a table tab.  
o Highlight the county variable.  
o Press the "Merge Datasets" button on the right-hand side.  
o The merge dialog appears with information that you will only be able to create tables and not 

extract data. Press the "Next" button. This will bring back a list of datasets with a comparable 
variable and may take a while to populate.  

o After the results return, enlarge the window by dragging the right side farther to the right.  
o Scroll down the list looking for the name of the second dataset named in step 3. Highlight this 

dataset and press the "Finish" button. You will get a warning that you will be taken back to step 
1 where you will select variables from the second dataset. 

Screenshot of merge dialog dataset selection:  

 

4. Select the variable from Summary File 3 - P1. Total Population (P001001).  
5. Go to Step 2 tab and press the "Make a Table" button. This brings up the DataFerrett spreadsheet 

window.  



   
6. Click and drag the first "MERGED-200 Three digit FIPS County Number" variable into C1,R1 to define 

the counties in the rows. This is the comparable dimension and all other variables will be dropped in the 
columns.  

7. Click and drag the "est" variable into C2,R1.  
8. Click and drag the "P001001" variable into C3,R1.  
9. Create a formula calculating people per gas station in column 4 (C4)  

o Highlight column 4 by clicking in the gray column header.  
o In the formula bar above the column headers enter the formula - =comp(c3/c2) and press the 

Enter key.  
o Add a description to the column header: “People per gas station.” 

Screenshot of co-tabulation table and a formula:  

 
 

10. Press the green "Go Get Data" button in the toolbar.  

Goal 2 Add the number of households without vehicles to the table. 
At this point, we can explore how many households have no vehicle within each county.  

1. DO NOT CLOSE the spreadsheet window, but go back to your main DataFerrett window using your 
Windows taskbar.  

2. Go to the Step 1 tab so that you can add an additional variable from SF3.  
3. Scroll down the dataset list under SF3 until you find table "H44. Tenure by vehicles available", and 

view all of the variables in this table.  
4. Select the "D_H044_1 - Total Housing Units: No Vehicle Available" variable. This is a pre-defined 

recode that sums together the H044003 and H044010 variables.  
5. Now go back to the tabulation window from your taskbar.  
6. The added variable is there, now drag it into column 5 (C5,R1) and press the "Go Get Data" button.  
7. If this summed variable had not already been defined, we could have created it ourselves.  



   
o DO NOT CLOSE the spreadsheet window, but go to your main DataFerrett window using your 

Windows taskbar.  
o Select the H044003 and H044010 variables.  
o Go to the Step 2 tab and highlight the H044003 and H044010 variables, then pre the "Create 

Multi-variable Data Step" button on the right-hand side. This brings up the multi-variable recode 
dialog window.  

o Make sure you give your new variable a good label in the text field at the upper left.  

o Enter the formula if ( 1 == 1 ) {D_RCD1 = H044003 + H044010;} in the text area as shown 
below. 
Note: the new variable name in the formula, D_RCD1, is the dynamic variable name shown at 
the top of the window and your formula must use the name shown. 
The "if ( 1 == 1)" syntax is used to force the condition to be true in all cases. 
The syntax of the formula is like programmatic code and must follow this: if ( condition ) { 
action ;}  

Screenshot of multi-variable recode of aggregate variables:  

 
 

o Press the "OK" button to save the created variable.  
8. Now go back to the tabulation window from your taskbar.  
9. The newly created variable is there, now drag it into column 6 (C6,R1) and press the "Go Get Data" 

button.  
Note: The numbers in columns 6 and 5 should be identical.  

 



   
Example 2 - Multi-variable recode for microdata  

Other features illustrated: Using percent buttons, sorting on a column, creating a time series graph from a table 
cell(s), creating a table that averages across time, creating a table that shows data over time, turning off/on 
Automatic Totals, cross-variable explosion, nesting vs. not nesting  

Background: In microdata datasets, you can create new variables with values based on the combinations of 
multiple variables' values.  

Goals: 1) Determine the percentage of people with and without health care coverage by age groups. 2) Examine 
health insurance coverage numbers over time.  

Steps:  
Goal 1 Determine the percentage of people with and without health care coverage by age groups. 

1. Open the Ferrett Session File (or saved data basket) named cps_mar_healthins_multi_databasket.fsf .  
2. Go to the Step 2 tab to view the variables in the data basket. There are five health insurance variables 

that are required to determine if someone has some sort of health insurance coverage:  
o CHAMP - Health Insurance Champus, VA, or military - Person  
o COV_HI - Health insurance - Group coverage - Person  
o COV_GH - Health insurance group coverage, including depend  
o MCAID - Health Insurance, Medicaid coverage Y/N  
o MCARE - Health Insurance, Medicare coverage Y/N  

For a person to have any coverage, the answer to any one of these must be "Yes" and for a person to 
NOT have coverage, the answer to ALL of these must be "No." We can create a multi-variable recode 
that does this for us so that we have one new variable that shows whether a person has coverage or not.  

3. Highlight the "D_RCD2 Health Insurance Coverage" variable and click on the "Modify" button on the 
right-hand side. This brings up the multi-variable recode window and shows us the definition of this 
variable. See the image below:  

  

http://dataferrett.census.gov/UserResources/TipsTricks/Example2/files/cps_mar_healthins_multi_databasket.fsf


   
Screenshot of multi-variable recode for microdata variables:  

 
 

4. Close the multi-variable recode window by pressing the "Cancel" button at the bottom right.  
5. We will now create a new multi-variable recode defined the same way.  

o Highlight the five health insurance variables listed above (ctrl-mouse click combination), then 
press the "Create Multi-variable Data Step" button on the right-hand side. This brings up the 
multi-variable recode dialog window.  

o Give your new variable a label in the text field at the upper left, something like "Health 
insurance coverage - Y/N".  

o Our new variable will have two values - 1=Yes, covered; and 2=No, not covered - and these are 
defined by the "if" and "else if" statements in the formulas.  

o To view the values of each variable, check the "Display Values in Variable List" box on the right 
side below the list of variables.  

o Enter the formula in the text area exactly as shown in the image above, except you MUST 
change the D_RCD2 to the name of your new variable shown at the top where you gave it a 
label.  

o To assign value labels to your new variable's values, check the "Assign labels to values" box 
directly above the text area. This will then reveal an area at the bottom for defining value labels.  

o Click in the "label" area for value 1 and enter "Covered by health insurance".  
o Click the "Add a new value" button to get a line for value 2.  
o Click in the "label" area for value 2 and enter "NOT covered by health insurance".  
o Click the "Ok" button. You now have a new variable in your data basket.  

6. Press the "Make a Table" button. This brings up the DataFerrett spreadsheet window.  
7. Drop the "RECODE3 Age groups" variable into column 1 to define the rows.  
8. Drop our new dynamic recode into C2,R1 to define the columns and press the "Go Get Data" button.  



   
9. Show the percentages of each age group covered and not covered by clicking on the "Show % of first 

data column" button in the toolbar.  
10. Sort the results by column 4 - not covered by health insurance - to see which age groups have the highest 

and lowest percentages.  
11. Turn off sorting and turn off the percentages.  

Goal 2 Examine health insurance coverage numbers over time. 

1. Create a time series graph - highlight four cells in column 4 - not covered, 4 age groups - then press the 
Time series Graph button in the toolbar. This automatically creates a time series graph of the same 
measure going back in time as far as possible, up to 12 time periods.  

2. Show the same table, but show the average over 5 years, and add the SEX variable to the table.  
o DO NOT CLOSE the spreadsheet window, but go to your main DataFerrett window using your 

Windows taskbar.  
o Go to the Step 1 tab and notice that there are several years of the March supplement available 

and currently just Mar 2007 is highlighted. Highlight all available years using the ctrl-click or 
shift-click combinations.  

o Now go back to the tabulation window from your taskbar.  
o Drag the SEX variable into column 1 to break out each age group by sex.  
o Press the "Go Get Data" button. By looking at the universe and dataset information in the 

spreadsheet (blue text in the middle of the right-hand side), you can see how many years are 
listed for the "Dataset(s) selected".  

o Go to the "Options" menu and you will see that "Average across time" is selected. You could 
change it to "Cumulative" if you wanted to see the cumulative totals over all years.  

3. Create a table that shows the health insurance coverage for EACH of the available years.  
o Close the current spreadsheet window.  
o From the Step 2 tab, press the "Make a table" button.  
o Notice that there is now a variable named "Instances" at the top of your variable list in the 

spreadsheet. This variable appears when you have more than one instance highlighted in the 
dataset list and you open a spreadsheet window.  

o Drag your multi-variable recode into column 1 to define the rows.  
o Turn off the automatic totals - go to "Options" and click on the "Automatic Totals" to de-select 

that option.  
o Drag the Instances variable into C2,R1 to show the years in the columns. There is no total for all 

years because we turned the automatic totals off before dropping this variable.  
o "Go Get Data".  
o Highlight the data cells in row 4, not covered by health insurance, and DO NOT include the label 

cell (C1,R4).  
o Press the "Graph" button in the toolbar (looks like a bar graph). The initial graph window that 

opens will show a bar graph by default.  
o Using the drop-down list at the bottom left, select "Line Graph" to essentially create a different 

time series graph.  
o Since the most recent time is on the left side, you can change it to the opposite by selecting the 

"Edit" menu and selecting "Reverse Axis".  

Additional Table Manipulation  

• Close the spreadsheet window.  
• In the Step 1 tab, select only Mar 2007.  



   
• Step 2, "Make a Table"  
• Health insurance recode in column1.  
• Age recode in C2,R1 to define columns.  
• Nest SEX in the rows on top of health insurance.  
• Turn off "Automatic Totals".  
• Drop the race variable in the rows, but not nested - drop two lines below current row definitions.  
• Turn on "Automatic Totals".  
• Turn off "Cross variable explosion" and nest the Hispanic variable on the race - wpresse only category.  

 



   
Example 3 - Mapping address points on a thematic map  

Other features illustrated: Viewing underlying records, clearing one dimension, changing universe from the 
spreadsheet  

Background: If a dataset has correctly-defined address point information, points can be mapped on top of a 
thematic map from a separate dataset.  

Goals: 1) Show the locations of all the public schools in DC on top of a thematic map showing the median 
household income by tracts from SF3. 2) Show how you can view the underlying records from the spreadsheet 
to see all the information for the universe of the selected cell(s).  

Steps  
Goal 1 Show the locations of all the public schools in DC on top of a thematic map showing the median 
household income by tracts from SF3. 

1. Create our underlying thematic map on which we will lay our school locations. Open the Ferrett Session 
File (or saved data basket) named point_map_theme_sf3_median_income.fsf .  

2. Go to the Step 2 tab to see the variables in the data basket - median household income and tracts (all 
tracts in DC).  

3. "Make a Table"  
4. Drag the tract variable to column 1 to define the rows.  
5. Drag the income variable to C2, R1 and "Go Get Data".  
6. Highlight the data cells in column 2 and click on the "Map" button in the toolbar. The map window 

showing the income by tract opens. DO NOT CLOSE the map window.  
7. Go back to the spreadsheet window and CLOSE it.  
8. Go back to the Step 1 tab.  
9. Clear the data basket by clicking on the "Empty Data Basket" button on the right side.  
10. Open the Ferrett Session File (or saved data basket) named point_ccd_schools.fsf .  
11. Go to the Step 2 tab to see the variables in the data basket - county (DC) and some information about the 

public schools, including address, phone, number of students, teachers, and level of the school.  
12. "Make a Table"  
13. Drag the county variable to column 1 to define the rows.  
14. Drag the "MEMBER - Total students..." variable to C2, R1 and "Go Get Data".  
15. Highlight the C2,R3 data cell.  
16. Click on the "Point Map" button in the toolbar (US with a flag on it).  
17. After a few seconds, a dialog box appears asking if you want to create a new map or add to an existing 

map. Select the "Add to existing map" option and the theme map we created is shown and highlighted. 
Click the "Ok" button.  

  

http://dataferrett.census.gov/UserResources/TipsTricks/Example3/files/point_map_theme_sf3_median_income.fsf
http://dataferrett.census.gov/UserResources/TipsTricks/Example3/files/point_ccd_schools.fsf


   
Screenshot of the dialog box for adding point to a theme map:  

 

18. Find your map window in your taskbar and open it.  
19. In the map window's "View" menu, select "Layers", and then from that select "Red Dot". The school 

location points will appear on your map. These dots represent the schools for those students in the 
selected table cell. 

Screenshot of point map showing schools on median income theme in DC:  

 
 

 

Goal 2: Show how you can view the underlying records from the spreadsheet to see all the information for the 
universe of the selected cell(s). 

1. Back in your spreadsheet window, clear ONLY the column dimension - go to the "Edit" menu, select 
"Clear", then select "All Columns".  

2. Drag the LEVEL variable into C2, R1 to re-define the columns, then "Go Get Data".  



   
3. Highlight the data cells in R3, C4 and C5, middle and high schools.  
4. Click on the "View Underlying Records" button in the toolbar (looks like a spreadsheet with a 

magnifying glass on it). This brings up a new window showing all the variables for the records with the 
values highlighted. The output can be sorted by any variable column by clicking in the header.  

5. Close the underlying record window.  

Additional Manipulations - Changing Universes in the Spreadsheet  

1. You can change your table to show some other set of counties.  
2. Clear your row dimension - "Edit" menu - "Clear" - "All Rows".  
3. Double click on the County variable in your spreadsheet variable list on the right side. This will bring up 

the Geography Codebook window.  
4. Highlight "District of Columbia" shown on the right side and press the "Delete" button.  
5. Highlight the FIPS county code on the left side and then press the "Next" button.  
6. Highlight the FIPS state code on the left side and press the "Next" button.  
7. Select "California" and press the "Next" button. This moves California to the right side.  
8. Press the "Next" button again. This will show all the counties in the state.  
9. Highlight the "Select All" at the top of the list and press the "Next" button. This moves all counties to 

the right side.  
10. Press the "Finish" button. You should return to your spreadsheet window.  
11. Drag the county variable to C1 to define the rows with all the counties in California. Press the "Go Get 

Data" button.  

 



   
Example 4 - Spreadsheet functions: Ranking, weighted ranking, order of 
formula processing.  

Other features illustrated: Summing calculation, hiding columns, creating column spanners, viewing hidden 
columns, IF conditions  

Background: This example shows how you can use ranking and apply weights to those ranks in order to answer 
questions like "What is the best county for ...?"  

Goals: 1) Create a table that will rank the best county in the US in which to live, based on our three criteria - 
commute time, median household income, and median housing value. 2) Limit our rankings to counties that 
meet our population size criteria - between 50,000 and 150,000 people.  

Steps 
Goal 1 Create a table that will rank the best county in the US in which to live, based on our three criteria - 
commute time, median household income, and median housing value. 

1. Open the Ferrett Session File (or saved data basket) named sf3_bestcounty_tolive.fsf . 
2. Go to the Step 2 tab to see the variables in the data basket - number of workers not working at home, 

aggregate travel time to work, median household income, median value of owner-occupied housing 
units, and county (all counties in US).  

3. "Make a Table"  
4. Turn off the "Automatic Totals" (in the "Options" menu) and drag the county variable to column 1 to 

define the rows.  
5. Drag the aggregate travel time variable, P033001, to column 2 - C2, R1.  
6. Drag the workers variable, P031002, to column 3 - C3, R1.  
7. Skip two columns and drag the median household income variable, P053001, to column 6 - C6, R1.  
8. Skip 2 columns and drag the median housing unit value variable, P085001, to column 9 - C9, R1.  
9. "Go Get Data"  

Create calculations and rankings.  

1. Calculate the average commute time in column 4.  
o Click in the C4 column header to select the column in which to create the calculation.  
o In the formula bar, enter =comp(c2/c3) == aggregate travel time divided by workers not working 

at home equals average travel time.  
2. Create the county ranking for commute time to work. The lower the commute time, the higher the rank 

number.  
o Click the C5 column header to select the column in which to create the ranking.  
o In the formula bar, enter =rank(c4)  

3. Create the county ranking for median household income. In this case, we want the higher value to have 
the higher rank number. Therefore, we will need to create an inverse income column on which to create 
the ranking.  

o Click the C7 column header to select the column in which to create the calculation for inverting 
the income.  

o In the formula bar, enter =comp(0-c6)  
o Click the C8 column header to select the column in which to create the ranking.  
o In the formula bar, enter =rank(c7)  

http://dataferrett.census.gov/UserResources/TipsTricks/Example4/files/sf3_bestcounty_tolive.fsf


   
4. Create the county ranking for median housing unit value. The lower the median value, the higher the 

rank number. If for some reason you were to want to rank the counties higher based on HIGH housing 
values, then you would need to create an inverted housing value column like we did for income.  

o Click the C10 column header to select the column in which to create the ranking.  
o In the formula bar, enter =rank(c9)  

Hide Columns  
Since several of our columns were used to create our desired columns, we can hide them. In our example, we do 
not need to see the columns used to calculate the commute time or the inverted income column used for ranking 
income.  

1. Click the C2 column header to select the column you wish to hide, then select the "Edit" menu, then 
select "Hide".  

2. Repeat for columns 3 and 7. Currently you can only highlight one column at a time.  
3. If you ever want to see the hidden columns, select the "View" menu, then select "Hidden 

Rows/Columns".  
4. If you ever want to change a hidden column back to not being hidden (unhide), first view the hidden 

columns as in the previous step, then highlight the column, then select the "Edit" menu and select 
"Unhide". The "Unhide" selection allows you to unhide only the selected column, or unhide all hidden 
columns.  

Create Custom Column Spanners  
You can create your own custom column spanners to group columns together. In our example, we can create 
spanners to group the three different measures and their rankings together.  

1. Select the "Edit" menu, then select "Column Spanners". This opens the "Column Spanner Editing 
Dialog" box. There are three fields for you to supply - 1) the text for the spanner, 2) the beginning 
column, and 3) the ending column. See the image. 

Screenshot of column spanner creation:  

 
 

2. Press the "Insert" button at the bottom to enter the first spanner.  
3. Click in the empty "Column Spanner" field and type in your first spanner - Commuting - then press the 

"Enter" key.  
4. Click in the empty "From" column and enter the column number the spanner should start with - 2 - then 

press the "Enter" key.  
5. Click in the empty "To" column and enter the column number where the spanner should end - 5 - then 

press the "Enter" key.  
6. Press the "Insert" button at the bottom to enter another spanner.  



   
7. Enter the information as show in the image above.  
8. Once the three spanners have been entered, press the "OK" button.  

Create the Combined Ranking  
Now we want to sum all three rankings together to find which counties rank the best based on the three criteria. 
The summed rankings will show us which counties have the shortest commute times, the highest median 
income, and the lowest median housing values.  

1. Click in the C11 column header to select the column in which to create the summed ranking.  
2. In the formula bar, enter =sum(c5,c8,c10) == this sums the rankings together.  
3. A small dialog box will appear showing the computations and the last one shows a conflict. See the 

image.  
 

Screenshot of calculation sequence conflict dialog:  

 
 

The computations must happen in order, or they cannot be completed properly. In this case, all previous 
ranking functions must be completed prior to our summing the ranks together, therefore we want to 
change the conflicting computation's sequence.  

4. Click in the "Sequence" cell of the "Conflict" row and change the 0 to a 2 and press the "Enter" key. 
This will make this computation occur last.  

5. Press the "OK" button.  
To see which county ranks the highest or lowest, highlight column 11 and use the sort buttons in the 
toolbar.  

Adding Weights to the Ranking Criteria  
We can customize our final ranking by weighting the criteria that are of more importance to us. For example, if 
the commute time is the most important criterion to us, we can weight it higher than the others. The weights 
must add up to 1. We will weight commute time as 0.5, and the other two as 0.25 each.  



   
1. Unsort the table by pressting the "Return to original order" button next to the sort buttons on the toolbar.  
2. Click in the C12 column header to select the column in which to create the weighted ranking.  
3. In the formula bar, enter =comp((c5*0.5)+(c8*0.25)+(c10*0.25)) == this weights the ranks and sums 

them together.  
4. We notice that we get all 0s in our table. We have a sequence conflict again, but we were not notified 

this time. We can change the sequence manually.  
5. Go to the "Options" menu and select the "Specify Sequence" option. This will bring up the dialog we 

saw before. Now, we want to change the last two calculations to have a sequence of 2, making sure to 
press the "Enter" key after each change. See the image.  
Screenshot of calculation sequence specification dialog:  

 
 

Once the sequence is changed, the weighted rankings appear. You can easily change these weighted rankings by 
changing the weights in the formula for column 12. To edit a formula, simply highlight the column and the 
formula should appear in the formula bar. Edit the formula and press the "Enter" key and the changes will be 
applied. 

You can sort the table to find the best and worst counties based on your weighted ranks.  

Goal 2 Limit our rankings to counties that meet our population size criteria - between 50,000 and 150,000 
people. 

 
If we only want to see the best counties of a certain size, we can include the population variable and then use an 
IF condition in a formula to remove counties from the top of the list.  

1. DO NOT CLOSE your spreadsheet window.  
2. Go back to the Step 1 tab and find the P1. Total Population table in Summary File 3.  
3. Get the variable, and add the P001001 variable to your data basket.  
4. Now go back to the spreadsheet window and you will see the P001001 variable in your variable list.  
5. Drag P001001 into column 13. Press the "Go Get Data" button.  
6. Click in the C14 column header to select the column in which to create the weighted ranking for 

counties of a certain size.  



   
7. In the formula bar, enter =IF(((C13>50000)AND(C13<250001)),C12,3500) == this condition will use 

the weighted rank (C12) if the county population is between 50,001 and 250,000 and if the population is 
smaller or greater than that, it will set the rank to 3500 (an arbitrary number higher than the highest 
county rank).  

8. We notice that we get all 0s and 3500s in our table. We have a sequence conflict again, and again we 
were not notified. We must change the sequence manually.  

9. Go to the "Options" menu and select the "Specify Sequence" option. This will bring up the dialog we 
saw before. Now, we want to change the last three calculations - two to have a sequence of 2, and the 
last one to a sequence of 3, making sure to press the "Enter" key after each change. See the image.  

Screenshot of calculation sequence specification dialog:  

 
 

Once the sequence is changed, we now can sort the list and see the best counties based on the weighted 
criteria we used and limiting the counties to the size we specified.  

 



   
Example 5 - List mode: show a list of only those records meeting a set criterion  

Other features illustrated: Advanced SQL  

Background: You can have your table only show results for the records that meet your criteria. For example, if 
you want to see all the counties within a select number of states that have a population within a certain size, you 
can get those listed in a table and include additional information from the dataset.  

Goals: 1) Create a listing of all the counties in Alabama, Georgia, and Florida that have a population of less than 
75,000 people. 2) Show the actual population estimate and the median household income for those counties.  

Steps 
Goal 1 Create a listing of all the counties in Alabama, Georgia, and Florida that have a population of less than 
75,000 people. 

1. Open the Ferrett Session File (or saved data basket) named sf3_bestcounty_tolive.fsf . 
2. In the data basket, delete the FIPS County variable  
3. Go to the step 1 tab. You will notice that there is a required variable - Selectable Geographies.  
4. Double click on this variable. This brings up the geography selection window. Select all the counties in 

Alabama, Florida, and Georgia.  
5. In the step 1 tab, go to the "Geographic Traits" topic listed under Summary File 3 and view all the 

variables.  
6. Sort the list by variable name and select the "NAME" and the "STUSAB" variables. These two variables 

will give us geographic names for our list.  
7. Select the "P001001" variable from the P1. Total Population topic in SF3.  
8. Go to the step 2 tab in order to set our population limit.  

o Click on the "Advanced Sql Option" button on the right side. This brings up the Advanced Sql 
Option window. See the image.  

http://dataferrett.census.gov/UserResources/TipsTricks/Example5/files/sf3_bestcounty_tolive.fsf


   
Screenshot of Advanced Sql Option window: 

 
 

o Insert text as shown in the highlighted portion of the image. This will limit the counties in our 
list to those with a population under 75,000.  

o Press the "Ok" button.  
9. "Make a Table" and close the green-bordered instruction window.  
10. Go to the "Options" menu and select "List Mode". When creating a table in "List Mode", you will 

always leave column 1 empty.  
11. Drag the "NAME" variable to column 2 (C2, R1).  
12. Drag the "STUSAB" variable to column 3 (C3, R1).  
13. "Go Get Data" and your result is a list of the county names and state abbreviations for all of the counties 

in the selected three states that have a population less than 75,000.  

Goal 2 Show the actual population estimate and the median household income for those counties. 

We can also view other variables in our list, such as the population and median household income.  

1. Turn off the List Mode - "Options" menu, select "List Mode".  
2. Drag the P001001 (population) variable into column 4 (C4,R1).  
3. Drag the P053001 (median income) variable into column 5 (C5,R1).  
4. "Go Get Data"  

 



   
Example 6 - Using a single cell as part of a formula instead of the entire row or 
column  

Other features illustrated: Column number formatting (decimals shown)  

Background: The DataFerrett spreadsheet typically does row and column calculations since calculations 
normally apply to all cells in the row or column equally. However, sometimes you want to create a calculation 
that uses one specific cell as part of the formula and not the entire column or row.  

Goal: Create a table that calculates the percentage of drivers within commute time ranges for a set of counties, 
while still showing the numbers of drivers within each commute time.  

Steps: 

1. Open the Ferrett Tabulation File named edw_trans_time_sf3_cell_calculation.ftf. Press the "OK" button 
on the Ferrett Chosen Instance Warning dialog.  

2. "Go Get Data" to see the tabulation.  
3. Column 2 was created using a formula that calculates the percent of commuters by travel time ranges. 

The formula in this case does not use Row 2 as the denominator, but instead just uses cell C3, R2 
designated as $C3$R2 - see the image for the entire formula.  

  

http://dataferrett.census.gov/UserResources/TipsTricks/Example6/files/edw_trans_time_sf3_cell_calculation.ftf


   
Screenshot of table with a formula using a cell:  

 
 

4. We can create a new column and replicate this formula.  
5. Highlight C6 by clicking in the gray column header.  
6. In the formula bar, enter the formula as- =COMP(C3/$C3$R2*100) -then press the "Enter" key.  
7. Highlight the column again, then select the "Decimal Format" button or the "Format" menu, then 

"Decimal" to bring up the decimal formatting dialog.  
8. Select the "One decimal place" option and press the "Ok" button.  
9. The percents in our new column (C6) should match the percents in column 2.  

By creating a formula using a single cell as the denominator, we are able to create a column showing percents 
while also maintaining all the other data columns.  
 



   
Example 7 - Calculating medians (or any percentile) on-the-fly  

Other features illustrated: Column formulas and IF conditions  

Background: The DataFerrett spreadsheet allows you to calculate medians (or any percentile) on-the-fly by 
creating your own bins (microdata) or utilizing income distribution counts (aggregate data), and using standard 
formulas to calculate the linear percentile you have defined within a given distribution.  

Goal: Create a table that calculates the median income for age groups (for the population 15 and over) using the 
March CPS supplement (Annual Social and Economic Supplement).  

Steps:  

1. Open the Ferrett Tabulation File named cps_income_percentile+mean.ftf.  
2. "Go Get Data" to see the tabulation.  
3. This tabulation calculates the median (the 50th percentile) which is defined in column 2 (C2) as 0.5. 

This value can be changed to any percentile you want (number greater than 0 and less than 1, e.g 0.25 
for first quartile). To change the value, click in the gray C2 column header. This will show the formula 
in the formula bar. Edit the formula.  

4. This table uses the 2006 March file (which reports income for 2005). To calculate for a different year, 
leave the spreadsheet window open and go to Step 1 in the DataFerrett window to select a different year. 
Then go back to the spreadsheet window and "Go Get Data".  

5. You can also calculate for different ages or other variables. To do so, you either select new variables or 
create new recodes (while the spreadsheet window is open). New variables or recodes will become 
available in the spreadsheet window. Then, go to "Edit - Clear > All rows" to clear the existing age 
variable. Then drop your variable(s) into column 1 and "Go Get Data".  

6. This table's universe eliminates income values of zero through the Advanced SQL Option in the Step 2 
tab of DataFerrett. If you wanted to include these values, or if you wanted to determine the medians for 
only positive income (current table includes negative income), you can do so in the Advanced SQL 
Option. The existing SQL universe is 
(AGE1 in (1,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16,17) and ((PTOTVAL between -999999 
and -1) or (PTOTVAL between 1 and 999999)))  
If you wanted to include the zero PTOTVAL values, you could simply remove everything related to 
PTOTVAL like: 
(AGE1 in (1,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16,17))  
Or if you wanted to use only positive income values, change the universe to: (AGE1 in 
(1,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16,17) and (PTOTVAL between 1 and 999999))  

NOTE: These percentile calculations are not statistically accurate and will not match published numbers 
exactly, although they should be within the confidence interval.  
 

http://dataferrett.census.gov/UserResources/TipsTricks/Example7/files/cps_income_percentile+mean.ftf
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